
Puissances de Dix (F)

1 ÷ 1 = 9 ÷ 1 =
1 ÷ 10 = 9 ÷ 10 =
1 ÷ 100 = 9 ÷ 100 =
1 ÷ = 9 ÷ =
1 ÷ = 9 ÷ =

5 ÷ 1 = 7 ÷ 1 =
5 ÷ 10 = 7 ÷ 10 =
5 ÷ 100 = 7 ÷ 100 =
5 ÷ = 7 ÷ =
5 ÷ = 7 ÷ =

1 ÷ 1 = 2 ÷ 1 =
1 ÷ 10 = 2 ÷ 10 =
1 ÷ 100 = 2 ÷ 100 =
1 ÷ = 2 ÷ =
1 ÷ = 2 ÷ =

2 ÷ 1 = 7 ÷ 1 =
2 ÷ 10 = 7 ÷ 10 =
2 ÷ 100 = 7 ÷ 100 =
2 ÷ = 7 ÷ =
2 ÷ = 7 ÷ =

2 ÷ 1 = 112 ÷ 1 =
2 ÷ 10 = 112 ÷ 10 =
2 ÷ 100 = 112 ÷ 100 =
2 ÷ = 112 ÷ =
2 ÷ = 112 ÷ =
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Puissances de Dix (F) Solutions

1 ÷ 1 = 1 9 ÷ 1 = 9
1 ÷ 10 = 0,1 9 ÷ 10 = 0,9
1 ÷ 100 = 0,01 9 ÷ 100 = 0,09
1 ÷ = 0,001 9 ÷ = 0,009
1 ÷ = 0,0001 9 ÷ = 0,0009

5 ÷ 1 = 5 7 ÷ 1 = 7
5 ÷ 10 = 0,5 7 ÷ 10 = 0,7
5 ÷ 100 = 0,05 7 ÷ 100 = 0,07
5 ÷ = 0,005 7 ÷ = 0,007
5 ÷ = 0,0005 7 ÷ = 0,0007

1 ÷ 1 = 1 2 ÷ 1 = 2
1 ÷ 10 = 0,1 2 ÷ 10 = 0,2
1 ÷ 100 = 0,01 2 ÷ 100 = 0,02
1 ÷ = 0,001 2 ÷ = 0,002
1 ÷ = 0,0001 2 ÷ = 0,0002

2 ÷ 1 = 2 7 ÷ 1 = 7
2 ÷ 10 = 0,2 7 ÷ 10 = 0,7
2 ÷ 100 = 0,02 7 ÷ 100 = 0,07
2 ÷ = 0,002 7 ÷ = 0,007
2 ÷ = 0,0002 7 ÷ = 0,0007

2 ÷ 1 = 2 112 ÷ 1 = 112
2 ÷ 10 = 0,2 112 ÷ 10 = 11,2
2 ÷ 100 = 0,02 112 ÷ 100 = 1,12
2 ÷ = 0,002 112 ÷ = 0,112
2 ÷ = 0,0002 112 ÷ = 0,0112
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